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Losung Al
fa ()

fn ()

fu' ()

fi(x) = sin(x)

fi(x) = cos(x)

fr"(x) = —sin(x)

f2(x) = 2sin(x)

f2'(x) = 2 cos(x)

f2"'(x) = =2sin(x)

fz(x) = asin(x)

f3'(x) = acos(x)

f3”(x) = —asin(x)

fa(x) = cos(x)

fi'(x) = —sin(x)

fi''(x) = —cos(x)

fs(x) = 3cos(x)

fs'(x) = —=3sin(x)

f5"'(x) = —3cos(x)

fo(x) = bcos(x)

fe'(x) = —bsin(x)

fe''(x) = —bcos(x)

fr(x) = %sin(x) +3

fr'(x) = %cos(x)

f7'"(x) = = 2 sin(x)

fe(x) =mcos(x)—5

Losung A2
fa(x)

fs'(x) = —msin(x)

fu ()

fs"'(x) = —mcos(x)

fu' ()

fi(x) = 2sin(x + 2)

fi(x) = 2cos(x + 2)

fi"'(x) = =2sin(x + 2)

f2(x) = asin(x + ¢)

fo'(x) = acos(x + ¢)

2" (x) = —asin(x + 2)

fz(x) = %sin(x - 8)

fs'(x) = Zcos(x — 8)

f3'(x) = —%sin(x -8)

fa(x) = 0,5cos(x — 2)

fi'(x) = —0,5sin(x — 2)

fi''(x) = —0,5cos(x — 2)

fs(x) =4+ cos(x —8)

fs'(x) = —sin(x — 8)

fs"'(x) = —cos(x — 8)

fe(x) = bcos(x + m)

fe'(x) = —bsin(x + m)

fe''(x) = —bcos(x + m)

£ (6) = %sin (% + t) -3

f7'(x) = %cos (% + t)

f"() = —3sin (5 +¢)

fe(t) =mcos(t+x)+x

Losung A3

a) f(x) =-9sin(x)
b) f(x) =5+ cos(x)
c) f(x)=5x—cos(x)
d)

e)

fO) =+ 750
f)  fO)=—+2sin)

flx) =x%— %cos(x)

fs'(x) = —msin(t + x)

f'(x) = —9cos(x)
f'(x) = —sin(x)
f'(x) =5 + sin(x)

fl(x) = ——+

flex) = —; + ZCos(x)

fl(x) =2x+ 1sin(x)

cos(x)

fs''(x) = —mcos(7 + x)

f"(x) = 9sin(x)
f""(x) = —cos(x)
f"(x) = cos(x)
ff)=2+ lcos(x)

17 sin(x)
=5

() = =% — 2sin(x)
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9 f()= ’%-—“’ff") FE) ==+ D) = a0
__3sin(x)  2cos(x) 3cos(x) 2sin(x) " 3sin(x) , 2cos(x)
h) flx) =200 2o fl(x) =280 4 2D gy = SRR
) f) = VR = gsin() f@) =55-gcos@ [ = - ot gsinG)
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